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“The values of outstanding bonds change whenever the going rate of interest

changes.  In peneral, shorl-terns interest rates are more volatile than long-term

interest rates. Therelore, short-term hond Prices are more scnxilive 1o interest

rate changes than are long-term bond prices.”  I5 this stalement true or false?

Explain. (10%)

A company is deciding whether Lo undertake an investiment project which has the

same risk as “the marketl” and an cxpeeted return of 20%. [0 the risk-fice rale is

10% and (he expected return on the marked is | 5%, the company should go ahead:

(select the correel answer)

(2) Unless the company’s beta is prealer than 2.

(b) Unless the company’s beta is less than 2.

(¢} Whatever the company's beta,

Explain your answer. (10%)

The president’s current execuljve ietis not fully utilized.  For the indefinite

future, you judge (hat its use by other officers would increase direct operating
costs by $20,000 a year but would save $50,000 a year inairkne bills.  On the

other hand, you believe that with increased use, the company will need to replace

the current jet 3 years from now rather than § years as had been earlicr anticipated.

A new jel costs $1.1 million and can always be replaced-at (hat price.  Honly the

president uses the jet, each new jot witl need to be replaced every 6 years,

However, il other officers use the Jet, cach new jet wiil need (o be replaced every

4 years.  Assume that the firm never pays laxes and the opportunily cost of

capital is 12%.  Should you Iry to persuade the president to allow olher officers

1o use the plane? (15%)

you are asked to perform a capital budgeling analysis of two projects. Both will
require an immediate cash outlay of $1000. Rotly projects last one year and they
botl produce revenues at he end of the year amounting to $1500 with certainty.

Cash cutflows at (he end of the year, however, are risky. They are given below,

along with the market rate of return, Rim:

End-of-Pcriod Ouiflows

State of Nature Probability Project A Project B Rm
Great 1/3 $500 $o00 20%
Average 113 400 400 10%
Horrid 1/3 300 200 0%

Since you are given the cash flows, there is no need to worry about lnxes,

depreciation, or salvage value,

Note that the cash outllows ol project B have
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higher variance than those of project A.  Which projcct has greater NIPV? - Show
your work and explain you reasoning. (15%)

5. (35%)

{I2BMW Co. and GM Ca. are identical firms in all respeets excepl for their capital

structure. BMW is all-equity finance with $250,000 in stock. GM uses both stock and

perpetual debt ; its stock worth is worth $125,000 and interest rate on its deb is 10%.

Both firms expect EBIT to be $37,500, Ignore taxes.

(a). Ms. Brown owns $25,000 worth of GM's stock. What rale of return is she
expecting?

(b). Show how Ms. Brown could generale exaclly the same cash flows and rate of
return by investing in BMW and using homemade leverage?

(c}. What is the cost of equity for BMW? What is il for GM?

(d). What is the WACC for BMW? For GM? What principle have you illusirated?

(2). Assume a firny’s debt is risk-frce, so (iat the cost of dcbl equals the risk [ree rate,
Ry. Define fa as the firm’s asset beta, that is, the syqtemahg risk of the firm’s
assets. Define Bz to be the beta of the firm's equity. Use the capital asset pricing
model (CAPM) along with M&M Propesition 11 to s show that Be = 4 x( 1+ DI EY,

where D/E is the debt/equity ratio. Assume that lhe tax ratc is zero.

(3). You own 1,625 shares of stock in Microsoft Corporation. You will receive a 65-
cent per share dividend in one year. In two years, Microsoft will pay a hiquidating
dividend of $25 per share. The required return on Microsofl stock is 16%. What is
the current sharc price of your stock (Ignoring taxes)? If you would rather have
equal dividends in each of the next two years, show how you can accomplish this

by creating homemade dividends. ( Ilint: Dividend will be in the form of an
annuity).

6. (15%)

At the end of 1997, Lake Industries had 80,000 shares of common stock outstanding

and had earnings available for common of $160,000. Butler Company, at the end of

1997, had 10,000shares of common stock outstanding and bad earned $20,000 for

common shareholders. Lake's earnings are expected to grow at an annual rate of 5%,

and Butlet’s growth rate in earning should be 10% per year.

(a). Calculate earning per share (EPS) for Lake Industries for each of the next § years,
assuming that there is no merger.

(b). Calculate the next § year’s earning per share (EPS) for Lake if it acquires Bulter
at a ratio of exchange of 1.1.

(c). Compare your findings in (a) and (b), and explain why merger looks attractive
when viewed over the long run.
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